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EHEERER A F54E FE 42 M08 (ST H 0 R I RR R (B B B T 8

£ b B - KT B % =2 L] ® & W=
EEIEE 137,015, 053
BEIER 13,201,284 + 35 511,142 48,712,426
HBEREE GDH 4,021,276 + 8,412,724 + 767,284 13,201, 284
HBRHE (BLE) 4,021,276
HBEREE (X ) 137,015,053 x 6.14% ((4.52% x1.00 +1.50%) x 1.02) 8,412,724
BSRENER 137,015,053 x 0.56% 767, 284
R f it 150,216,337 x 23.64% ((21.46% +1.49%) x 1.03) 35,511,142
TH R 137,015,053 + 48,712, 426 185,727,479
—REBESE 185,727,479 x 15.76% (15.76% x 1.00) — 2,419 29, 268, 231
RREEE 185,727,479 x 0.04% 74,290
T H{fits 185,727,479 + 29,268,231 + 74,290 215, 070, 000
EEIEH 1,596, 457
R 1,596,457 x 80.5% — 1,604 1,283,543
RBEEE 1,596,457 + 1,283, 543 2,880, 000




EHEERER A F54E FE 42 M08 (ST H 0 R I RR R (B B B T 8

£ b B - BT B % =2 B @ ® & W=
AR E TS 2,880, 000
E R 248,550 + 7,456 256, 006
EEAGE 248, 550
EERE 7, 456
T DAt R 248,550 x 53.85% (35% = (1 — 35%) ) 133,844
e i 256,006 + 133, 844 389, 850
—REEES 389,850 x 53.85% (35% + (1 — 35%) ) — 9 784 200, 150
ES il 389,850 + 200, 150 590, 000
BEHEE 215,070,000 + 2,880,000 + 590, 000 218, 540, 000
HERERLE 218,540,000 x 10.00% 21, 854,000
EATISE 240, 394, 000




BHEENRE A5 A ESGIA RO RIZCH R ER TS
4 [ IR - WAKTiE By B = i ) i

BEIEE 137,015, 053
PR G) (B B) 137,015, 053
H@T 116, 228, 188
HEBERT 116, 228, 188
Hiten 116, 228, 188
1-1 &R MES~100ke/ERRE CE%R) 7,762.00 14,974 116, 228, 188

m3
WE - BET 20, 786, 865
BERT 20, 786, 865
wER 13,216, 095
1-2 HER #A1,000ke/EFEE (K2R 669. 00 19, 755 13,216, 095

m3
wHEHL 7,570,770
1-3 ®wEHL (1) A1, 000ke/EFERE (% F) £500m  15m~20mK i 438. 00 14, 404 6,308, 952

m2
1-4 BB L (2) A1, 000ke/EFEE (% F) £500m  20m~ 25mK i 81.00 15,578 1,261,818

m2
HBREEFEL) 4,021,276
HiB R 4,021,276
HBIREE 4,021,276
ReH 4,021,276




BHHEENRE A FI54E 2 B (T A )R SRR G (B B R T

£ g g - BKTE BfI B B2 i ki £ wmE

REXTE 4,021,276
1-b RLERM FRP D 180PSZ! 1.00 4,021,276 4,021,276

=
EEHEE 1,596, 457
BIE%HE 1,596, 457
TILFE—LBIE 1,596, 457
TILFE—LBIE 1,556, 457
B2 E 353, 765
2-1 Bl=%0m 1.00 169,074 169, 074

=
2-2 BMER (1EERY) 1.00 184, 691 184, 691

=
KRB = 629, 486
2-3 BETRAK 1.00 623, 208 623, 208

=
2-4 T ILFE—LBIZE 0.01 627,821 6,278

km2

BE 573, 206
2-5 AIERT—4%E 1.00 573, 206 573, 206

=
BEiEEE 40, 000
BE 40, 000
2-6 ZBHRRSR 1.00 40, 000 40, 000

=




BHHEENRE A FI54E 2 B (T A )R SRR G (B B R T

% R R - RARSTiE BfL % 8 B ® # m o=
EER 256, 006
BE 3] 256, 006
TILFE—LAIE 256, 006
EEAGE 248, 550
S 248, 550
3-1 3RFTERE T — 2 1ERL 1.00 248, 550 248, 550
BEERE 7,456
S 7, 456
3-2 EBHAME 1.00 7, 456 7,456

=




Rifiz -/ \v7r—o

DHSFE R BBGLAH R RIZC)SRRBER TS

&5 :1-1
L EERER #AES~100kg/ERRE GE2R) 1000m 34 Y
2 b g - BIRTE BT o = BHO(f ® # " =
R #A5~100kg/AIEE (ki%R)
m3 1, 300. 00 11, 300. 00 14, 690, 000
Bkt D 270PSE! 3~5tH
B 0.96 218, 359. 00 209, 624 8H
MR EXENOY
% 0.50 14, 899, 624. 00 74, 498
& H 1E%8EH - 1,000.00m 3 14, 974. 00 14,974,122
&5 :1-2
L% WEBER A1 000kg/BRRE GEER) 1000m 34 Y
2 b g - BIRTE BT H = BHO(f ® # " =
HWER #A1,000kg/BRRE ®i%RA
1, 300. 00 14, 800. 00 19, 240, 000
Bkt D 270PSE! 3~5tH
B 1.91 218, 359. 00 417,065 8H
MR EXENOY
% 0.50 19, 657, 065. 00 98, 285
& B YEZERES - 1,000.00m 3 19, 755. 00 19, 755, 350
&5 :1-3
£ BEHL (1) A1, 000ke/EFEE (G%i%H) =50cm  15m~20mK i 18B&Y (19.9m2)
2 b g - BIRTE BT H = BHO(f ® # " =
BKEMQABKAX (RE)) D 270PSE! 3~5tH
B 1.00 285, 223. 00 285, 223 |8H
MR EXENOY
% 0.50 285, 223. 00 1,426
& B YEZERES 1 19.90m 2 14, 404. 00 286, 649




Rifiz -/ \v7r—o

&S :1-4

&% REHL Q) A1, 000ke/fEFERE (%£%F) £50cm  20m~ 25mK i

HSEER BB R FIEC(R R ERTE

1H3Y (18.4m2)

% b I - BIKTE BAL = B O ® % M = " %
BRI QABKAR (RE)) D 270PS%! 3~5tH
=] 1.00 285, 223. 00 285, 223 8H
MM E2NOY)
% 0.50 285, 223. 00 1,426
& B {EZ%BESN : 18.40m 2 15,578. 00 286, 649
&S :1-5
% Eu I - BIKTE B4L = B O ® % M = " %
REEERM FRP D 180PSZ!
=] 35.00 114, 322. 00 4,001,270 6.00H / 8H
MM E NOY)
% 0.50 4,001, 270. 00 20, 006
& B EZBER - 1.00 4,021, 276. 00 4,021, 276
&5 . 2-1
&% . BIE%E 1K%Y
% Eu I - BIKTE B4L = B O ® % M = " %
HIlE F A
A 1.00 51, 000. 00 51, 000
B S M
A 1.50 44, 000. 00 66, 000
BIEHEnH
A 1.00 34, 300. 00 34, 300
AEHF
A 0.50 32, 200. 00 16, 100
MM E2NOY)
% 1.00 167, 400. 00 1,674
& B EZBER - 1.00= 169, 074. 00 169, 074




Rifiz -/ \v7r—o

HSEER BB R FIEC(R R ERTE

&5 :2-2
£ BAMEROEESY) 1LY
2 b g - BIRTE By = B O ® W = " =
BIEWHEE
A 1.00 217,000. 00 217,000
FSvo 2tiE
B 1.00 31, 283. 00 31,283/4.70H / 8H
Jx)—EE 5~6mEiG
= 1.00 124, 580. 00 124, 580
MR 2E0%
% 1.00 182, 863. 00 1,828
& B 1YE%HeH - 1.00K 184, 691.00 184, 691
&5 :2-3
B BETX 1%y
2 b g - BIRTE By = B O ® W E " =
REE S4 kY 2L
B 1.00 3,372.00 3,372/2.00H / 8H
BIEFEHEM
A 1.00 51, 000. 00 51,000
RIS HRER
A 1.50 44,000. 00 66, 000
Bl S H A
A 1.50 34, 300. 00 51,450
BEBF
A 1.00 32, 200. 00 32,200
BIEf FRP D 70PSZE!
B 1.00 49,191. 00 49,191 8H
GNSS;BIfI & DGNSS
B 1.00 25,575. 00 25,575
TILFE—LBERZEH 36~455kHz
B 1.00 338, 250. 00 338, 250
MR 2E0%
% 1.00 617, 038. 00 6,170
& B 1E%HeH - 1.00K 623, 208. 00 623, 208




Rifiz -/ \v7r—o

HSEER BB R FIEC(R R ERTE

BE .24
Z TILFE—LAE 1BEY (1.07Tkm?2)
2 b g - BIRTE BT o = B O ® W = " =
REE S4 kY 2L
B 1.00 3,372.00 3,372/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 57, 806. 00 57, 806 8H
BIEFEHEM
A 1.00 51, 000. 00 51,000
RIS HRER
A 1.00 44,000. 00 44,000
Bl S H A
A 1.00 34, 300. 00 34, 300
BEBF
A 0.50 32, 200. 00 16, 100
GNSS;BIfI & DGNSS
B 1.00 31, 775. 00 31,775
TILFE—LBERZEE 36~455kHz
B 1.00 420, 250. 00 420, 250
MR 2E0%
% 2.00 658, 603. 00 13,172
& B EEREN 1.07Tkm2 627,827.00 671,715
&S .25
B RAFET— 2 EE 1LY
2 b g - BIRTE BT #H = B Ol ® W E " =
BIEFEHEM
A 3.10 51, 000. 00 158, 100
RIS HRER
A 4.10 44,000. 00 180, 400
Bl S H A
A 6. 20 34, 300. 00 212, 660
MR 2E0%
% 4.00 551, 160. 00 22,046
& B 1E%HeH - 1.00K 573, 206. 00 573, 206




Rifiz -/ \v7r—o

HSEER BB R FIEC(R R ERTE

&5 :2-6
2% EBHRRA 1LY
2 b g - BIRTE By = B O ® # " =
EBHRERERE
= 1.00 40, 000. 00 40, 000
& Hi 1YE%HeRH 1,00 40, 000. 00 40, 000
&5 : 3-1
ZFF  SRFTEET T —FERK s EP
2 b g - BIRTE By = B O ® # " =
FEHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.50 55, 200. 00 82, 800
e (B)
A 1.50 45, 300. 00 67,950
AR (C)
A 1.00 35, 600. 00 35, 600
& Hi 1E%HEDN 1. 00HEER 248, 550. 00 248, 550
&5 :3-2
&% EHARE 1LY
2 b g - BIRTE By = B O ® # " =
EXERARE
= 1.00 7, 456. 00 7, 456
& Hi 1E%HeRH - 1.00K 7, 456. 00 7, 456




